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SIMPLIFYING RADICAL EXPRESSIONS 

Simplify. 

1)  2c9  =  

 
 
 
 
 
 

2)  22dc  =  

3)  84yx4  =  

 
 
 
 
 
 
 

 4)  12168 tsr25  =  

5)  11x  =   
 
 
 
 
 
 
 

6)  32yx  =  

7)  a49  =  

 
 
 
 
 
 

8)  2m27  =  

9)  3r86  =  

 
 
 
 
 
 

10)  32yx20  =  

11)  73ba247  =  12)  x2 546 zyx4  =  

 
 
 
 
 
 



 

13)  633 cba9  =  

 
 
 
 
 
 

14)  854 tsr12  =  

 
 
 
 
 
 
 
 
 

15)  745 zyx72 =  

 
 
 
 
 
 
 
 

16)  8632 zuy18zu5 =  

 
 
 
 
 
 
 
 
 
 

17)  7992 tsr50trs =  

 
 
 
 
 
 
 
 
 
 

18)  625 =  

 
 
 
 
 
 
 
 

19.  What is the equation of a line that has a 
slope of 4 and goes through the point (3, -2)? 

20.  What is the x-intercept of the line 4x – y = 12? 
 
 
 
 
 
 
 
 
 
 

 

Answers in random order:  yxy ,  r2r12 ,  ab6ab14 3 ,  xz2zyx6 322 ,  xx5 ,  (3, 0),  

y = 4x – 14  ,  cd,  2x2y4,  3m3 ,  ababc3 3 ,  y2zyu15 55 ,  rst2tsr5 465 ,  zzyx 2252 ,  25,  3c,  

5r4s8t6,  y5xy2 , s3tsr2 422 , a7  


